





24, Summarized .below are the .Income and 15. The following is the Balance sheet of Sharma Litd.

0 o e ] y R
Expenditure forecasts of XYZ Ltd. for the months _ for the year endmg March.31,2018.
of March to August 2018; '
Month Sales PurchasesWagesManufacturmg Office Selling Llablhtl.es - Rs. Assets R,S'
(all (all Rs. Expenses Expenses Expenses ) )
Credit) Credit) Rs. Rs. Rs. Equity Share 4,00,000 Goodwill 1,50,000
Rs. Rs. _ Capital
March 60,000 36,000 9,000 4,000 . 2,000 4,000 )
April 62,000 38,000 8,000 3,000 1,500 5,000 : Reserves 40,000, Building 2,00,000
May 64’000_ e G000 450D 4500 4:690 Profit and Loss 80,000 Machinery 2,50,000
June 58,000 35,000 8,500 3,500 2,000 3,600 Alc :
July 56,000 39,000 9,500° 4,000 - 1,000 4,500 - :
August 60,000 34,000 8,000 3,000 1,500 4,500 Debenture - 1,00,000 Stock ) 80,009
You are given the following further information: Secured Loans 1,00,000 Sundry Debtors 60,000
(aj Plant costing Rs. 16,000 is due for delivery in el : - )
: ; i . ; Bill bl 4 0
July payable 10% on delivery and the balance Creditcza BO000 . Bulls Recetvable 0,90
: after three months.. Provision for Tax 50,000 Cash at Bank 50,000
~(b) Advance Tax of Rs.8,000 is payable in March il - :
andilune'eaeh Bills Payable _ 40,000 Preliminary . 60,000
. : . . Expenses
(c) Period of credit allowed @ by supphers PRl
2 months and (ii) to customers 1 month 8,90,000 8,90,000
-(d) Lag in payment of manufacturing expenses. 4
~1/2month You are required tocalculate

. (e) Lag in payment of all other expenses 1 month @)~ CurrentRatio

You are required to prepare a cash budget for ) :

three months starting on 1 May, 2018 when (b) Liquid Ratio
there was a cash balance of Rs.8, 000 ‘ .
(c) :Return on Capital Employed Ratio.
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16. A Company’s reported current profit is Rs.70,000

after incorporating the following:

Rs. Rs.

Loss on sale of 10,000 Gain from sale of non- 40,000
Equipment ' current assets

Premium on Excqss provision for 22,000
Redemption of Taxation

Debentures 1,500 Dividend income on 4,000

Investment
Discount on Issue 2,000 Transfer to General *5,000

of Debentures Reserve

Depreciation on Preliminary Expenses 1,000

Machinery and

Buildingé ‘ 20,000 Profit on Revaluation

‘ of

Depletioh of 10,000 Investments 2,500
natural resources

Amortizaéion of 30,000

Goodwill

Interim dividend 25,000

Calculate the funds from the operations.
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23. A choice is to be made between two competing
projects which requife an equal investment of
Rs.50,000 and are expected to generate net cash
flows as under

Pr'oject I  Project II
End of year 1 Rs.25,000 Rs,10,000
End ofyear 2 15,000 12,000

End ofyear3 10,000 18,000

End ofyear4 - . Nil 25,000
End of year 6 12,000 8,000

End of year 6 6,000 4,000

The cost of capital of the company is 10 percent.
The following are the Present Value Factors
@ 10% per annum:

Year L 2 3 4 B 6
PV |

Faptors ' N
@10% p.a: 0909 0.826 0.751 0.683 0.621 0.564

Which project proposal should be chosen and why?
Evaluate the project proposals-under net present -
‘value method.
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18.

19.

State the merits and demerits of budgetary
control. :

.

Prepare .a.ﬂexible budget for overheads on the
basis of data given below. Ascertain overhead
rates at 50 per cent and 70 percent capacity.

At 50% At 60% At 70%
Capacity Capacity: Capacity
Rs. Rs. Rs.
"Variable overheads:
Indirect Material 6,000
Indirect Labour 18,000
Semi-variable
overheads: ,
Electricity (40% /
fixed), 30,000
Repairs and
Maintenance 20% 3,000
variable
Fixed overhead:
Depreciation 16,500
Insurance ' ' 4,500
Salaries : 15,000
Total overheads 93,000
Estimated Direct - " 1,86,000
Labour hours hrs
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20.

21.

SECTION C — (3 x 10 = 30 marks)

-Answer any THREE questions.

Distinguish between management accounting and
financial accounting.

From the following particulars of Imperial
Chemicals Ltd,, how to assess the company’s
strength and weaknesses .in terms of liquidity,
solvency and proﬁtability. '

Balance sheet as on 31-03-2018

Liabilifies Rs. Assets Rs.
Equity share 2,00,000 Plant 3,02,000
capital &machinery
10% preference 80,000 Stock 1,21,600
share capital
Retained 54,800  Debtors 72,000
earnings )
Long-term debt 68,000  Cash 24,600
Sundry - 63000
creditors _
Outstanding 2,400
expenses !
Other current 52,000
liabilities

5,20,200 5,20,200
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